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National Talent Search Examination 2015

State Level Test-2015

I Uuat yifwur - 2015
™3 gn<l (Class X)

MENTAL ABILITY AND SCHOLASTIC APTITUDE TEST
wafaa GarsT w3 fefit <t dazT &t Y

Time : 3 hours " Max. Marks : 200

Instructions for candidates:-
1. This exam is in two parts.
2. Part-l is related to Mental Ability Test.

3. Part-IIrelates to Scholastic Aptitude Test. It consists
of nine subjects, details of which are given below:-

i) Physics ii)  Chemistry

iii) Biology iv) Mathematics
v) History vi)  Geography

vii) Civics vili)

Economics
ix) English 7

4. Each question carries one mark. All questions are
compulsory.

5. Youhave been provided with a answer sheet (OMR)

for this question paper. Darken the correct option of

each question in the answer sheet (OMR) with
black/blueink.

6. Rough work may be done on the blank space
provided. '

7. Thereis no negative marking in this question paper.

8. Do not use white fluid on OMR Answer Sheet.

11 R T T i : 200
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4a National Talent Search Examination- 2015, Class-X
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Mental Ability

Directions (Q. 1-2) There is 2 number series following a
Pattern, One place is left blank. Find the correct answer
from the options.

. 1,2,4,8,..0...,32
10 ) 12
3) 14 4 16

2. 16,33,65,131,(7)523
1) 261 2) 521
3) 613 4y 721

3. Findthe odd number
3,7,9,28,27,84,81,448,243
1}y 84 2) 81
3) 28 4 7

Directions (Q. 4-5) The letters given below follow a
definite pattern. Find out the missing Letters to
complete the pattern.

4. -XYX-XXY-XXX-XX

) yxyx 2)  xxxy

3) yyyy 4)  xyxy
5. gfe-2g-e22-fe2-gf-22 _

1) 2f2ge 2)  e2fp2

3) f2g2e 4)  2fgle

6. In a certain code language 'INVITED' is written as
'LPWISCA'. How will 'LETTERS' be written in that
code language?

1) OUGTDPQ  2) OUGTPQ
3) OUGTPDQ 4) OGUTDPP

7. In a certain code language "GREAT" is written as
"79512". How will "DOWRY™ be written in that code

language?
1y 41523 2) 46897
3) 46597 4) 42315

Directions (Q. 8-9) What will come in place of question
mark(?)

8. 3 7
3 (3) 2 s (5) 71 8 (2) 9
1 6 10
) 3 2)
3y 5 4 6

HrafAa Garar
fsven (yas 1-2) 35 fou yust feg vat ot st i aneft
3, fam f'e it e wrupt Aea 3 1 yet ot 395 Bt o2 v

a9 feasyt fe@ ot Q37 521
. 1,2,4,8,...0..,32
H 10 2} 12
3) 14 4 16
2. 16,33,65,131,(7)523
1) 261 2) 521
3} 613 4 721

3. wigagerHar/Afm 55

3,7,9,28,27,84,81,448,243

1) 84 2) 81

3) 28 4 7
{538/ (Ui 04-05) It fe'F wivg fo'x foufas gu 3w
wEAe IS Iferguav Sy st BuanidTuaT ag |

4, -XyX-XXy-XXX-XX

1)  yxyx 2)  xxxy

3 yyyy 4 xyxy
5. gfe-2p-e22-fe2-gf-22

1y 2f2ge 2)  e2fg2

3} f2g2e 4y  2fgle

6. fain &5 gwr f&F 'INVITED' & 'LPWISCA' fafimr
Afer, 31 @F a5 g f&€9 'LETTERS' § fae fafionr
HArar?

1) OUGIDPQ  2) OUGTPQ
3} OUGTPDQ 4) OGUTDPP

7. fam a3 I <9 'GREAT' & '79512' fafirnr e 31 €F
asga e DOWRY' § fa2 fafimr rdqr?
1) 41523 2) 46897
3) 46597 4) 42315

feaey (s 8-9) '3 o st fe'gyas g etaarr a3

8. 3 7 9
3() 2 s (5) 7 g (2) 9
1 6 : 1(_)'
N 3 ) 4
3) 5 4 6




9, 56 27
9 (1) sl 3 (2)36
17 9
n 9 -2y 10
3) 1 4 12
10. Abhijot walks 6km to the west then he turns to his right
and moves 8km then he turns to his left and moves 9km

then turns to right and moves 12km. Now in which
direction is he from his starting point and how far?

1) I5NE 7)  35NE
3) 25NW 4) 45SE

Directions (Q. 11-12) Read the following information
carefully and answer the question given below. In a
certain code"her idea has merit" is written as "fa lu boo
ma", "merit list has been displayed" is written as "go
he Iu si ma", " her name displayed there" is written as
"ya si boo zo", and "name in merit list" is written as
"mayajho he"

11. What is the code for'been'?

27
9 (1) 36
9

1) he 2y o

3) go 4y =i
12. Whatis the code for'in'?

1) jho 2) ma

3) =zo 4} boo

13. Ifblue is called red, red is calied green, green is called
black, and black is called white, What is the colour of

grass?
1) Red 2) Black
3) White 4)  Green
14, Which of the following operations will resuit in 227?

1) 16+12-8x13+13
2) 16-12x8+13~+15
3)  16+12+8-13x15

4)  16x12+8+13-15

15. If, + means -, —, means <, =’ means 'x' and x means +,
what is the value of 125-5x10~+13+28=7
1y 129 2) 127
3) 149 4) 150

16. Which figure represents Rhombus, quadrilaterals,
Polygons?

9 56 27 27 =a
9 (1) s 3 (2) 36 9 (1) 36
17 9 9
) 9 27 10
3y 11 4 12

nfadg 6 fr . U'ew =8 uh I'ser § feg o vmud AA un
W e 3 o3 8 fa ot IEer d feg Qo @ ¥R UR T HT
Far Y w o fa it SB T InI AR VR ST g A IS 12
fa it gBe 17T Goud e s fig I flanfewr S99
w3 fgatgdt 37

1 158y 2y 35€-y

3) 25€-u - 4) 4se-y
faaew (YRS 11- 1z)mmm3mmu-a
w2 Fot o2 o yaat @ € ga feq 1faf de s fe's "her
idea has merit" § "fo he lu boo ma", fafumr wter 4,

"merit list has been displayed' § "go he lu si ma",

fafir e 3, "her name displayed there™ & "ya si boo
zo" f&fiy AT 3 W3 "name in merit list" § "ma ya jho
he" fafimrater 3

11. 'been' T AT A T

1) he 2)

3y go 4 =i
12. 'n'eras st

1y jho 2) ma

) =zo 4) boo

13. A9 J1T § &8 faur A2, g8 § oo fagr 7, o &
g fag e o arer § fger fara@ Ty ergarat
F&am
1) B8 2) B
3) faer 4) T

14. T et Wiafomrei fed fameradimr 22 37
1) 16+12-8x13+15
2} 16-12x8+13+15
3)  16+12+8-13x15
4)  16x12+8+13-15 ,

15. g9+ STHIBE ', - OV HIBE = W3 L ITHIBE X' I
gt iz fegardtys J=ar? 125-5x10+13+28=?
1y 129 2) 127
3) 149 4) 150

16. I fsfipnt feg faozr 839 AWI3T 93d9H, 93980

sggAfSoigrEang@erd?
(0)o

@ 7
@D © B

- St



~-*7. Select the combination of numbers so that the letters

arranged accordingly will form a meaningful word
RTANUE

1 23456
1) 1,3,2,6,4,5
2) 4,6,5,2,3,1

3) 43,2516
4) 4,3,2,5,6,1
18. Which of the following words cannot be made from the

Letters given in question.
TRANSFORM _
1) FORT 2) ROAM
3) TRAIN 4) RANSOM

19. Arrange the given words in the alphabetical order and
choose the word that comes in the second place.

1) Reserve 2y  Real
3) Rest 4)  Repeat
20. Which will be that next leap year after 20207
1) 2026 2) 2029
3) 2103 4y 2024

21. PQ,R,S,T,U VW are sitting around table in same

* order, for group discussion at equal distances. Their
positions are clockwise. If V sits in the North, then
What will be the position of §7

1) East +2)  South-East
3) South 4) South-West

22, Yuvraj said,"My mother is sister of Vinod's brother."
How is Vinod related to Yuvraj?

1) Brother-in-Law 2)  Uncle
" 3) MaternalUncle 4) Cousin

Direction (Q. 23&24) Read the fo]loﬁ'ing information
and answer the questions given below it.

Anju is older than Manju. Gopal is older than Manju but
younger than Anju. Kapil is younger than Ramesh and
Manju. Manju is older than Ramesh.

23. Whois the oldest?

1) Anju 2)  Manju
3) Kapil 4)  Gopal
24. Whose age is between Gopal and Ramesh?
1}  Manju 2)  Kapil
None of these

3) Alka 4)

17. wiat @ wifvar Ayd 9 TR mgamg 7 vt § SediE gt
A< 3T JEt Hoga HEC 52 |
RTANUE
1 2 34 56
1y 1,3,2,6,4.5
2) 4,6,5,2,3,1
3 4,3,2,5L6
4) 4,3,2,5,6,1
18. fio"T 918 wwe © wiydt 3 I fofr feF faoa mee &t

HE T 7T RgeT? TRANSFORM
1) FORT 2) ROAM
3) TRAIN 4) RANSOM

19. f&'3 Auet § S9SHST © IH MEAT a9 WY B9 mae IR
fros e ras IwRer I

1) Reserve 2)  Real
3) Rest " 4)  Repeat
20. 2020 F gHE HIBT BTU T A'S fqgarI=ar?
1) 2026 2) 2029
3) 2103 4y 2024

21, BLQR,S,TU,V,W feq di@ga™s HA € oS 59789 §91 3
Ay &9 9997 a9 58 88 I51 8Tt © Aas wEt Tt
FetT & famr nisHe 05 1 Fem V €99 fee gz oar S e
FETS ot J<ar?

1) 3" 2)

})) =TuE 4)
22. g S fagr, “Het Wi fede g gardt 9= J,” fede ueetw
a3 fae Agug 7

TYS-Yay

THE-Usy

-

1y <=9 2y gwr

3) HwWr 4) gETTE

fagen (YEs 23-24) fo' 3t ardt areadt § ug w3 35t fed

a2 yEst @ Faafed ‘
g, g T EF 9, duE Ay F I @ ig I e T
afus i g 382 THY, AR T <5

23, faumTRg FITTIT

1)y g 2) Md

3 afus 4 U
24, S W IHR e waieds fardt e T

1) ¥m ?)  afum

3)  wEET 4) Fdad



25. Find out the connection/relation of the given

26.

27.

rows/columns with each other in some way.

Rows Columns

1 73 12 21 48
2 121 13 22 136
3 84 28 46 517
4 512 87 141 224

1} Columns [& T

2)  Columns &IV

3) Columns H&IV

4y  Columns &l

Atree always has

1)  Branches 2)  Leaves

3) Fruits 4)  Roots

How many 5's are there in the following number

sequence which are immediately preceded by 7 and
immediately foliowed by 6?

755945764598756764325678
1) One 2)
3) Three 4)

Two

Four

Directions : In questions (28&29) one of the rules is
applicable, Find oui the rule and correct alternative

28.
29,
30.

31

1) Multiply the number by 3 and add 3 to the result
2) Subtracttwice the number from the square

3) Multiply the number by 5 and subtract 3

4) Addthe number to its square

12,20,30,42 i

47,52,57,62

In the given question symbols do not stand for their
actual meaning but indicate some relationship. Under
stand the relationship and find correct alternative

24+33=99

40+23=115

16+25=50

64+13=7

1) 74 2) 28
3) 58 4) 104

Visiting the historical monument, a tourist asked "How
old is this monument?" The guide replied "The age of
monument was square numoer iwo years ago and will
be cube number after two years. What is the age of
historical monument?

1) 343 2) 216
3) 123 4) 66

ZS.WWWW%WMW

26.

27.

NG|
Rows Columns
1 73 12 21 48
2 121 13 22 136
3 84 28 46 517
4 512 87 141 224

1) aTEHlwIwI1l
2) TEHlImI IV
3) TENIwIIV
4) aEHlImII

TIUI AT I St g T

1) efaatw ) uF

) @ 4

fovas st feava S fdaae Iragdfarfeera s 3

ufgst wig 7 ar@er 3 w3 aone f&g a6 wrler g9t
755945764598756764325678
1) fow ) &

3) f3= 4y w9

foodm : yEst (28 w3 29) fé's ' a2 fowtt fad fo'm

28.
29.

30.

3.

fsmisrgy 3 RaeTd Ifst sy @ At feasu et 8z ad|
1) Wad3ssgeadwdfenfeasag)

2) WEEEIE e € saar fes weS

3) WEE5EE IS Iea, fed swe

4) rEeTEdEg A fSIAHTEd)

12,20,30,42

47,52,57,62

yus &9 o2 a A3 U@ »As HIBE MEAT 541 5|
wefa fe's Ay marfuzg aev 9%, At fag 3 morfed At
feasudt ST 9|

24+33=99

40+23=115

16+25=50

64+13=2

1 74 2) 28

3) 58 4) 104

ufewr fa wrearg 48 A yoret o7 €8 € ardlg
(faaewa) & fagr few &1 @ve & Ave ufest fea <gar i At
WI & WE gwie T wiE e 33971 §F wrears @t e
fast T=ait?

1) 343 2) 216

3) 123 4) 66



*-«Directions (Q. 32-34) Some bricks of the same size have
been arranged in a block in figure kept on table. All the
exposed faces have been painted with colour Answer
the question given below.

32.

33

34.

35.

ANANAN

How many bricks are there in the figure?

1) 40 2) 38

3 46 4 52

How many faces of these bricks kept on the table, have
been painted?

1) 40 2) &4

3) 80 4) 78

How many bricks are there whose only one face is
painted? '

1y 16 2) 28

3 24 4 20

It was 9:35 am by Sachin’s waich, which kept correct
time, when Abhinoor informed him that the last bus
left the bus stop at 9:25 am Abhinoor's watch is
5 minute fast. The frequency of the bus is every 20
minutes. For how long must Sachin wait to catch the
nextbus?

1) 15minutes 2)
3) 25 minutes 4y

10 minutes

5 minutes

Directions (Q. 36-37) Find the odd alternative

36.

37.

1y 25 2) 36
3) 49 4) 64
1) CEFH 2)  MOQS
3) ACEG 4y  ZBDF

Directions (Q. 38-39) In each of the folowing questions,
there is a relationship between two Letters/Word/
Number on the left of the sign (::) The same relationship
exists between the two to right of the sign (::) of which
one is missing. Find out the missing from the
alternative.

fagow - (ws (32 3 34) fe'd o fo'gafewae e fna
€ um Ffipwr famr 3 fegt @ yeefna fo'fisT 3 dorafat fapd
3 13=t fe's ymat @ Faafed ‘

32.

33.

34.

35.

L
vd
L~
fo'ge fes faatr fiet a7
1) 40 2) 38
3) 46 4 52

fe'3 e fo'se mgwe fiet @ i3 yeafis fafmm (feured
TTEd)IFoataTiomrd?

1) 40 2) 84
3) 80 4) 78
nifrdtat féatt fet o8 fagt &t free fe'a yeama fomr
(feyret &= @ar) Jar a3 famwr 31
1y 16 2) 28
3) 24 4) 20

Afes S wA I AT 9:35 T AWt At A far sia At wfaza &

| @rg pfes T fa wadlas 97, S w9 3 9:25 Far gt

WY I nifaga & wiFh 5 72 »idr it | 97 99 20 five anae At
J1Af98 & wast TR maEs gt fawT fegaTg ager ugar?

1) 15fe 2) lofie

3) 25 4 s5fie
foew (yus 36-37) fizy feaay et 3= ad|
36.1) 25 2y 36

3) 49 4) 64
37.1) CEFH 2)  MOQS

3) ACEG 4) ZBDF

faoow ((Hs 38-39) o fed Yt fdg @ v yR @
wya/mae Mt 39 feg 3 RR yi @ Afosr fefe It €9t
fur 3 1fe'd e foasyt 3 rat faasusd |



38 p.2. . py.o
3
3 4
n 3 »n 4
) % ) 3
6 2
O 2 %

39. CIRCLE : RICELC : : SQUARE:?
1) QSUERA 2) QUSERA
3) UQSAER 4)  UQSERA

40. Gourav is fourteenth from the right end in a row of 40
boys. What is his position from the left end?

1y  27th 2) 26th
3 25th 4y  24th
Direction : In questions (41&42) problem figare is

incomplete. Find correct alternative to complete
problem figure,

41.
]
H
?
i
i
| (1
1 2 3 4
42.
?
Ve
1 2 .3 4

43, Find the mirror image of figure A

TZ 12\

t 2

> lli.ﬁ

44, Find the water Image of fignre A

XJxxH

z
A 1 2 3 4

-~

5

38 p1.4. . py.o
3
.3 4
3 2y 4
) 3 )3
6 2
R 4 %

39. CIRCLE :RICELC::SQUARE:?

1) QSUERA 2) QUSERA
3) UQSAER 4)  UQSERA

40. 40y S FIg e An fME T Joe 14 s I I 159
fryg 3 Gu faod rars I _am?
1) 27=F 2)  26@
3)  25=t 4 24w

fagomw ymEs (4143 42) fg mifrmir fo"ge miger 3 | iifromr
fa'gu §yaraos 5 @ g9 fo'get fed' ot femmy et S ad

a1, =
a
?
]
]
1 F1
1 2 3 4
42.
?
Z
1 2 3 4

43, fege AT U TruSifaa ®9)

SMIZ 22 2

A 1 2 3 4
44, fgag A ?U@Th‘?@ﬁ‘aﬁl

RKIXDKHX

A 1 2 3 4




4 a

Direction - In questions (45&46) Question figure is

. embedded in one of the answer figure. Find the correct

one in which itis embedded.

45. Question figure

Answer Figure
'-_— 4] | [&2
1 2 3 4

46. Question Figure

Answer Figure

B> 8 6=

I 2 3 4

Directions - (47-48) In each of the following questions
there is a relationship between two figures on the left
side of the sign : :, The same relationship exists between
the two, to the right side of sign : :, Find the correct
alternative,

47.
. ?
1 2 3 4
48,
o/\a e X v
] - * :
x A o- m] (=]
#* 1 * =
[m] x x
1 2 3 4

Directions (49-50) The figures in each of the questions
follow a series Select the figure from the given
alternatives which would continue the series.

fagem:- yas (45 w3 46) f¥ o yus fa3e, Qo fese fed
fait fe'm fa's gfumr 3oy 31 fan f&fa feo ghewr 3, Gwet
vg=ad|

45. yrsfage
!
Saafoze
R4 &
1% ||l
] 2 3 4
46. yasfaze
CECICESS

B> >0 8| &=

1 2 3 4
faaem- yas (47 w2 48) I5 fod yuat fev fams . S e
yw € fegyt feg dau rarfuz 3, A R @ dAfant feo 2t
€91 Arag rerfug soe 78, a2 o feasy {9 it feasy
STz aTi '

47,
. ?
L
1 2 3 4
48,
o/ \a >, x ”
' -O LJ *
X ASNO [m}
* I * |
= x
1 2 3 4

faaey (Y 49-50) fe'3 a2 yww fe'gar st uidt @
zHt it fe'd g feaeu @9 fea gt




49.

50.

S

52.

53.

54.

55.

9419 0% i
P

1 2 3 4

S1AO&/_\L@

AT o)AL
< 3

1 2 4
Physics

Tail of a comet points away from the sun due to
1}  Gravitational force

2}  Electrical force

3) Atiraction of comet due to other planet

4) Radiation Pressure

Find the effective resistance between points
Aand B

A

)y 750 2) 1050

3 1250 4) 1450

In the given equation identify the particle X
‘Be+ He—>"C+X

1} Proton 2)  Neutron

3} Electron 4y  Positron

What should be the new radius of earth in order to
reduce escape velocity to half of the present value
without changing the mass of the earth.

1) R2 2) 2R
3) 3R 4) 4R

The nature of image formed when an ohject 1s placed
between Principal focus and optical centre of convex
lens

1) Virtual, diminished
2} Real, Magnified

3} Virtual, Magnified
4} Real, Diminished

49,

50.

51

52.

53.

54.

55.

&
&

Ofe
04

o
&

1 2 3 4
15 Q A(/&A LD 9
mY iwil Ao} /ml}
1 2 3 4

#f3q fefarnrs
fea mag St Y=g RaR 3 uat IR S 9wt T feneraas 31
1) Jga9ns T8
2) faamEs
3) UHIAF T ERI Alfo a B aaEs
4) portygEE TG
A3 B fieni fegerayfaqudt 37

D 7.50 2) 1050
3 1250 4 1450
fedt 36t mitaes fed x dt 37
Be+;He—C+X

D = 2) fa@
3) fedwm 4) s

ggdt ¥ wau fauy &t Jer ggter I vae @Fer e fagt
se8 §nel Wndh 2ar (Escape Vel.) Hger Hrgar 3 »at
gefeA A=

) R2 2) 2R

3 3R 4) 4R

fegaa 3t wierd 3t @rer yfsffg fae e

1) wEAtiusT

2) wEwm,wagfEedsr

3) wigwrarefeEEET

4) wms,iusT

»a?



AT

56.

57.

58.

59.

60.

61.

62.

63.

A person is running along a circular track of area
625wm’ (w=22/7) with a constant speed. Find the
displacement in 15 seconds if he has to complete the
racein 30 sec.

1) 200m 2)  100m
3) 25m 4) 50m

A particle of mass M in a circle of radius R moves with
a constant speed v. The work done when it completes
onecircle is

2
M-)-x'n’R 4) Zero

1) My x2mR 2)%Mv2 3) R

R

Two forces act on the either side of the rigid body of
negligible mass suspended by string as shown in
figure. If R is the resultant force then the tension (T) in
stning will be

T
!
! } }
32 gwt R 50 gwt
1) 26gwt 2)  dlgwt
3) 82gwt 4) 16 gwt
Magnetism in a magnet is mainly due to

1}  Orbital motion of electron
2) Thespinmotion

3) Thenuclearcharge

4) Nucleus density

The part of eye which changes in focal length of eye
Iens.

1) Irs 2
3) Pupil 4)

An anchored boat is rocked by waves whose crests are
100m apart and whose velocity is 25m/s. How often do
the crestreachin boat.

1) 0.35sec. 2)
3) 75sec. 4)

Cornea

Ciliary Muscles

4 sec.
2500 sec.

The atmospheric pressure at the surface of earth is
about.

1) 10'N/m’ ~2)  10N/m’

3) 10°N/m’ 4)  10°N/m’

The electric device which works on the phenomenon
of force on a current carrying conductor in magnetic
fieldis

1)  Generator 2)
3) Motor 4

Accelerator
Transformer

56. fea fewmdt dimag a9 € U9 3 AR o 439
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58.

59.

60.

61.
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63.

625mwm’ (7w=22/7) 3, 83 fea Ao ot &% 9= faor 1
89 ygr 979 30 Afds fe9 yar ager J 37 15 Afdas fee
faaT ferarus (displacement) Snfadar!

1) 200m 2)  100m

3) 25m 4)  50m

M U7 =78t feq @z R »ioq feus @8 dac fe9 Afag
gt v s UM Idt I I e yer IR Fas BT eng €8 fdar
T AT famim

2 2
) 1\/}1{) x2mR 2)—21—Mv* 3) -MR"—mR 4) #g

ToATe {939 WigH™ 3F SHF € 891 UH I 575 Beas
FHIT A I T 95 Sare I U5 17|49 85 e famsee R

-

FraR et Ens (T) st g=am
T
!
| ! !
32 gwt 7 R 50 gwt
1) 26gwt 2)  4lpgwt
3y 82gwt 4) 16gwt

Yua e [y gwaar e Wy greT er ares feoat fea faggrd?
1) feBagsrerwrafas }

2) feBags et gdtemd une ataes

3) fa@ammgean

4) fagQaEmuw=ar
?w@aﬁmmm@ﬁaammgm
|

1) wrfegw 2)  JraEr

3) yIE 4) famdud

fex 3t 3et fanat Fgar gvmer omE W T O IFaT T
o= 10027 § 3 Fa1 25 Hiea/Afds 31§60 Gur= 143
N I faadt I udSar

1) 0.35%f&s 2) aRféw

3) 75afdw 4)  25007fqF
TG TEEt e qaSt St R g e
1) 10°N/m’ 2)  10°N/m’
3) 10°N/m’ 4)  10°N/m"

Ew farsdt w3 e 5F ef faoa fa Suat g feg ud fea
Ied fan fee famst var e IR €I sorad am o
Ao g I ageT T

1) w&ded 2)  waHBIETT
3) Hee 4)  IAETIMT
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68.

69.

70.

71.

Chemistry
Which of the following will show Tyndall effect:
1) Mik+H,0 2)  Salt+H,0
3) CuSO,+H,0 4)  Alcohol+H,0

Which of following equlibriom shifts in backward
direction by applying high pressure?

a) NO,(g)

b) H,(g)+CL{(g)
¢) PCL(g)*+CL(g)
d) N:(g)+3H.(g) 2NH, (g)
N A 2)B 3)C 4 D

Non-metals react with oxygen to form ...........
........ oxides

1) Acidic,Neutral
3) Basic, Neutral

2NO, (g)
2 HCI(g)
PCL(g)

or

2) Acidic, Basic
4) Basic, Acidic

Which sample at STP has same number of motecules
as 5SLofNO, (g)has at STP

1) 5gofH,(g)

2) SLof methane (g)

3) 5 moles ofO, (g)

4) 5x 10" mplecules of CO,{(g)

Arrange the gases present in air in increasing order of
boiling points.

1) N,<Ar<Q, 2)  Ar<N,<Q,
3} O,<Ar<N, 4) N,<O,<Ar

How many electrons are present in 0.1 moles of
[PO,]  ions.

1) 50x6.023 10° 2) 5x6.023x10°
3) 1x6.023x10°  4)  3x6.023x 10"

Esters are sweet-smelling substances. These when
treated with NaOH then:

(i) formation of alcohol and sodium salt

70.

(i) formation of carboxylic acid and water
(iii) this reaction is known as sponification
1. (i}and (ii)are wrong

2. (ii)and (iii) are wrong

3. only(ii)is wrong

4. only (iii) is wrong.

Arrange Li, C, B and Be according (o increasing
order of their atomic radii.

1. B<Be<Li<C 2.
3 Be<C<B<Li 4,

C<B<Be<Lti
B<C<Be<Li

10
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65.
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71.

Infes fafamrs
I3 fafun fed fan fee fdgs g foumdt fer 37
1) #u+H,O0 2) ®E+H0
3) CuSO,+H,0 4) ws&sE+H,0
5 fefant f&F faost fafenr €9 o€ wl= I figms
fg @&t fer (backward direction) & 3 wreTd|

a} N.O,(g) ==  2INO(g)
b) H,(g)+ClL(g) ==  2HCl(g)
¢y PCL(g)+Cl(g) S PCL(g)
d) N (g)+3H,(g) === 2NH(g)

1} A 2)B »Hc 4 D

wWurgt nartes & fafers@d ... A
T nranElE ¥ Gt 0% |

1) Iwat, faauy 2)  avdt,ywt

3) wdt, fsauy 4)  ugt, IwrEt

Jo fafinr feF fagg Rus feg STP I 5 feea NO,(g) &
ggrag Mg (molecule) JE€ 51

1) SATHTEZIHS A

2) 5f{geatiadme

3) SHEMEHIAS dA Y
4) 5x10” wE agus srfewramdts dne

g=r f¥9 Hge dnt § Gust € Qs Taw ¥ TU@ I
nigrd fed-

1) N,<Ar<Q, 2)  Ar<N,<Q,

3) O,<Ar<N, 4) N,<0O,<Ar

0.1 H& [PO,]" nirfes 9 44 fedags Je 051

1) 50x6.023 10° 2)  5x6.023x10”

3) 1x6.023x10”  4)  3x6.023x107

#weg WS fofus (yRgeET) Ue9E g5, we' feg NaoH
&% fafon qa< g8 I

(i) #BIas I AFtH sHF gEeT |

(i) TIPHATATBS wHE M3 Ut e TS|

(iii) few fafomr § Al edws afde s |

1) ()T (i) IBI T

2) (ii)mF (i) TBI TSI

3) Fes(i)ITIBI T

4) I (i) TSI T

Li, C, BT Be § §0a € Y'E »ig'e & IUL G MEHT
f=a

1) B<Be<Li<C 2)
3) Be<C<B<Li 4)

C<B<Be<Li
B<C<Be<Li

4



w72,

73.

74.

75.

76.

Which of following salt when dissolved in distilled
water will give pH less than 7

1) Na, SO, 2) CH,COONa
3) (NH,),SO0, 4y NaCl
Matchthe following :
i}  AntSting A. ~ Oxalicacid
ii) Tomato B. Laticacid
iii) Tamarind C.  Methanoicacid
iv) ‘SourMilk(Curd) D. Tartaricacid
1)} (i)-C,(ii)-A, (iii)-B, (iv)-D
2)  (i)-C, (ii)-A, (iif)-D, (iv)-B
3) (i)-A,(i)-C, (ii1)-D, (iv)-B
4)  (i)-A, (ii)-C, (iii)-B, (iv)-D

Which of following statements are correct about o

(alpha) particle scattering experiment.

(i) most of the fast moving o particles passed

straight through gold foil.

(ii) some of a- particles were deflected by the foil by
small angles. :

(iii) Surprisingly one out of every 10 particles
appeared to rebound.

1) (i)and(iii)are correct

2) (i)and(ii) are correct

3} (1), (i) and(iti) are correct
4) only (ii) is correct

Match the following correctly:

I. Washing Soda  (w) Hygroscopic Substance.

IT. SulphuricAcid (x) have water of
Crystallization

1II. Suspension (y) Coagulationtakesplaceon
additionof salt.

IV. Colloid (z) Particles settle down on
standing

D IWIE)II(Y)IV(z)

2) IxIWI()IV(y)

3) 1@ IHE)IV (W)

4) I WIV()

In an open vessel, the liguid keeps on evaporating. The
particles of liquid absorb energy from surrounding to
regain the energy lost during evaporation. This
absorption of energy from the surrounding make the
surroundings (i) Hot (ii) cold (iii) No change in
temperature of surrounding (iv) It depends upon the

1

72.

73.

74.

75.

76.

Ferd g yygus e pHW3Ie 7 Fwedetdl

1) Na,SO, 2) CH,COONa
3) (NH,),S0, 4) NaCl
s fefrme s as:
i) aFfterdar A, orANTSE IS
ii) amed B. 3=feamis
iil)y fewsy C WiErafeg nvs
iv) =dtardergm D,  Tofid@mwHs
1) (i)-C,(ii)-A, (iii)-B, (iv)-D
2)  (i)-C,(i)-A, (iii)-D, (iv)-B
3)  (i}-A, (ii)-C. (iii)-D, (iv)-B
4)  (i)-A, (ii)-C, (iii)-B, (iv)-D

JogEds ¥ Scattering YHAT 578 9T o (HBEY) AT IS

5 fefur &9 faog/faaz e slaos: '

(i) foaeras o-az 73 ¢ u3d feud' fad &

BW AR IEI

(ii) ém—aeé%—é%é@é»_{s#am

(ili) Joaiasa I fa g9 10 = feo ¢ fea a= =um

eS|

1) ()3 (i) FesRTS

2) ()m3 (i) FTFSHTS

3} (i), ()" (i) Fe ST IF

4) FwEm(i)TEsiEIs

o fefipt o fHes aa:

.y TETBTRIT (w) TfeaRmafugueres

11, efeQfaa s (x) fapestvs

I11. f5%%% (Suspension) (Y) ST ug@e Iugge & as
feas Inte sy

(z) uaeg ¥ o< gt A7 fime
oz IEB Ee AT TS

Iv.azfes

3
2)

TwWII)TI{y)IV (z)
1(x) T (W) T (2) TV (y)
3 I@IOHIIE)IV(w)
4) 1)) UWIV(Y)
fea v wguns feg Toe oremiless g farr T1Fes € ae
WE-gHS 3 Qov AT 95 3t § THUETS T 99's HEl
9w T IS F9 AAS | I ©r few Qe ust -
g8 § (i) aram FFe 31 (ii) =~ Fger 91 (iii)
Iuns fog det ufe=azs &dt gevi(iv) teg Fags @ ganf




71.

78.

79.

80.

81.

82.

nature of liquid.

Out of (i), (i), (iii), (iv) which is correct

to fill the
above statement. '

1) only (i}is correct

2)  (i)and(ii) are correct
3} (ii)iscorrect

4)  Allarecorrect )

Biology

Which one of the following statements is not true about
Darwin theory.

1) Rapid Multiplication
2)  Struggle for Existence
3) Environmental effect
4) Onginofnew species

The end product of respiration in plants are

1) CO,, H,Oandenergy
2) Starchand Oxygen
3) SugarandOxygen
4) H,Oandenergy

Which one of the following is known as energy
currency ofacell

1) ATP

2) ADP

3) Pyruvate

4y  Glucose

F, particles or Oxysome are present in-
1)  Endoplasmic reticulum

2}  Chloroplast

3) Mitochondria

4)  Golgicomplex

DNA replication mainly takes place in

1) G, Phase 2)  G,Phase
3} SPhase 4)  MPhase

Out of the following which hormone regulates
carbohydrates protein and fat metabolism in the body
so as to provide the best balance for growth

1} Insulin 2)
3} Oestrogen 4)

Thyroxin

Adrenaline

12

77.

78.

79.

g0.

8l.

82.

1

EALTECE ol

(i), (id), (iii), (iv) feF wst ot wet faomr At fao S St o)
) FEs()zTI

2)  ()yw3@)Eah

3) F=m(islad

4) AFBETI

wtw fafamrs
9% {58 auet &9 fauar aue Ffes S fArz o3 nat &t
ol
1) IMEwI=TwTIT
TIIS THA
F&ft Frdnft BT RS ST
Ufemrt fe'a arg fafeur ev sy yerae faaar for dy
1) aIEsIEHEATEF, Ut v QT
2) FRRIAHITHENAE
3) HOR(EF)mMInAAAE
4 wrmI e

35 fafi &9 faua s & Qoo wee s aratwi e
3

2)
3)

4)

1) &t 2) I

3) ufegez 4) Tgaw

F asatwarivfee ... UTE HE I3

1) wdusTEHtAEE  2)  a@dusme

3) weealsdr 4) diederfenrer

DNA replication (Qustama) iy ST ......... fegdatd
) Gw 2) G,&F

3) S&w 4H M3

w3 ot & 579 §g fafenr (Metabolism) § fawifas
FaeTd I Al e it fgsE fefg e I g

1) fapsts 2) wfeaads
3) WREIAE 4) ndEElE
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86.

87.

88.

89.

90.

In human beings, If the egg is not fertilized, it lives for
about

1} Oneday 2)  Threedays

3} Fivedays 4)  Eightdays

The cell wall of fungi is made of tough complex sugar
called

1) Cellulose 2}  Chitin

3) Pectin 4)  Lignin

Lung fish is connecting link between

1)  Fishes and arthropods

2) Fishes and annelids

3) Fishesand molluscs

4) Fishes and amphibians

The virus causing Japanese encephalitis or biain fever
will enter the body through

1) SexualOrgans 2} Mosquito bite

3) Lungs 4) Air

The direction of Impulse in a typical neuron is from

1) Dendrontoaxon 2)  AxontoDendron

3) Axontonucleus 4)  Axontomedullary sheath
Ahuman female with Turner's syndrome.

1} Hasoneadditional X chromosome

2) Has45 chromosome with XO

3) Exhibits male Character

4) Isableto produce children with normal husband
The correct pathway of blood in circulatory system is

Auricles = Ventricles =» Arteries = Veins

1)

2) Ventricles— Auricles = Veins = Arteries
3) Ventricles & Veins —> Arteries = Auricles
4} Veins = Ventricles = Auricles =» Arteries
In living organisms, an active immune system recruits

many cells to the affected tissue to kill off the disease
causing microbes. This recruitment process is called-

1) 2)
3) 4)

Inflammation
SARS

Syphilis
Encephalitis

13

83.

84.
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3
88.

- 2)

9.

90.

waur fee, & wd o fxvas & 3% 3t fev o) fag fes
A=z afderal

1) feafes 2) fa=fes

3y Umfes 4y nisfes

gerat st fansrdreesdmatgetiard
1) B8 2) afefes

3) Uafes 4) foafss

R g fas feerzaadtai

1) HEtm3weEElsT 2) HETwIwwiEsT
3) Ha@tv@HsAar  4)  WEtWIwfedtar

Aurst g gz A fevman gy o femrg mefte fefa fararat
s Jer |

1) yASSWEreWw 2) HeIedeEas
3) &7 4 T .
FEtAT ewrRar i fenr.........
1) FSITFINATCTE
2) WEAEIIITaEs
4) WS IAFBAHYTE
1) fegTgXaerzad<ar

45 FEPIAISAXOTEE
3) YT I ednTElal
4) RUTas yer &T8 &9 Ter aa Feret 3 |
sgorsgdFyE R fegndtug....
1) wWdEET > IFasd —> e = g
2) edasH = WEasd = e -» wietar
3) Sedtesd - fagrer - aWetr = wirdftass
4) frgrer - SeHIBA = MdasH - T

€ U9 UH B19T © JOret § HOS SY1 T9J AT AS 9T
s AT esTs g ... AT TSI

1) retfefsr 2) Fram famr

3) Awstlggs=ordw  4) AR(SARS)
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92.

93.
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Mathematics
If a,b,c be the first, second and the iast term of an

AP, then the sum of this A.P.
1) is (a-c)(btc-2a)
2(b-a)
2) is (atc) (btct2a)
2(b-a)
3) s (atc) (bic-la)
2(b-2)
4) Cannot be determined uniess some more

information is given about the AP.

For what value of k, (4-k) x’+(2k+4)x+(8k+1)=0 is a
perfect square?

) o 2 3
3) 0,3both 4) -33both

If one of the zeros of the cubic polynomial
x+ax’+bx+c is -1, then product of the other two zeroes
is

1} b-atl 2) b-a-l

3) a-btl 4y  ab-l

For how many values of n (where n is an integer), the
expression §(n’-3n’+5) isaninteger:
2n-1

1) 8 2) 4
3) 11 4) 28

In the given figure ABCD is a rectangle and all
measurements are in centimeters. Find the area of the
shaded region

G-t.C
E 12
7}
!\?F 7 B
1) 240cm’ 2)  205cm’
3) 105 em’ 4) 95 cm’
Iftan’d=(1-¢") then secd-+tan’d cosecd is equal to
) (@+e)” 2)  @e)”
3) (1-e)" 4y (1+e)”

Ifa,b,c,d,e are five consecutive odd numbers then then-
average is

1) 5(atd) 2) ——abgde
3) 5(atbtctdte) 3)  atd

14
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- fanry

Fa a,b i ¢ far waafeaa 53t (AP) e ufowr, gaArma
Afaue iR, StfemAP T Ages
1 (a-c) (b+c-2a) T

2(b-a)
2) (atc) (b+c+2a) I

2(b-a)
3) (atc) (b+c-2a)  JI

2(b-a)
4) WEgiega 53t o9 I¥ T geaT 3 fast Ages uar

FasTHIE &t T

k € fam y& e AftaaE (4-k) X' +(2k+4)x+(8k+1)=0
fea yas saard<=aft

n 0 2y 3

3) 03serEet  4) -33%etsH

Fag faa-uradt ggue x +ax +hx+c, B fea frgg -1 a@ 3¢
gt it € freet er geses 99|

1) b-atl 2)  bal

3)  a-b+l 4) a-b-1

n ¥ f&& Wat st (fWH n ffs Ayes ffimr 3), feima
8(n"-3n"+5) erym e fuds Afimrd

2n-1
1) 8 2) 4
3 11 4) 28

fo 3 fage f£'9 ABCD feg nrrfeg & mid o vy Aéhieat
fFgTn Iferfeus gt g garoT dgoes U HS |

D G+i-C
E 12
D
A?F‘—M—'B
1) 2408 M 2}  2058F
105 f st 4)  95FHH

q99 tan’d=(1-¢’) TT 3 secp+tan’d cosecd T HE
Jedm

D (24" 2y (2-eH”

3) (1) 4)  (1+ey"

#a9 ab,c.de, amunz*aﬂfuwe’fae-af@a#e?
WS (AZ) &1 3=ar?

) S(atd) 2)
3) S(atb+ctdte) 3)

abcde

a+4



I8,

A number when divided by 342 gives a remainder 47.
When the same number is divided by 19, what would

" be the remainder?
1y 9 2) 8
18 4) 11

‘3)

99.

100.

101.

102.

A sphere and a cube have the same surface area. Find
out the ratio of the volume of the sphere to that of the

cube.
1y 6:m 2) \]5 :\];-r
3) 6w 4) 6:Jm
ABCD is a square whose vertex A lies on the origin.

The Coordinates of the mid-point of the diagonal AC
are ( p/2,1). Find the value of P the area of square
ABCD is 20 sq units.

1) +6
3) £10

103.

104.

10s5.

The set of values of k for which the roots of the
equation 3x” +2x + (K-1)K=0are of opposite sign is
1 (©0,1) 2)  [0,1]
3) (-1,1) 3 (-10)
The value of 4 \/3+ }129_72\5 is
1) 9f3 2)9
3) 9+3 4)9-J

7 B

Y X
D C

In above figure, X is a point in the interior of square
ABCD. AXYZ is also a square. If DY=3cm, AZ=2
cm thenlength of BY is

1) S5em 2)
3} 7cm 4)

If every side of a triangle is increased 3/2 times of its
original length, then the percentage increase in the
area of the triangle is

1) 125% 2y  150%
3) 300% 4y  50%

If one angle of a rhombus is 60°, then the ratio of the
lengths of'its diagonals is

1) J6:1 2) 21
3) 23 4) 31

6cm

8cm

15

98.

99.

100

101.

102.

fert A & 342 I €32 F 47 Fvelt gEer I A OF Afpr

& 19T fenr A I QR er et St gar?
1 9 2) 8
3) 18 4 1t

-

foa @I T We T g AT T UTIEB I I T8 &
WE3E W3 W T fegs ernaua usTad|

) 6:m 2) J6: [

3)J6:m L 4) G:J:rr

. ABCD f&a zaar &, firrer fig A ye fie 3 Afag &

Hae fewe feage AC € MU fig @ faoom » (p/2,])
=, 3t P TS U3T 9 Had <3ar ABCD =7 4393 20
Zgar fearet|

1) +6 2)  +20

3) £10 4  +36

K @ €57 W& € AYT (set) il Bt mflaa 3x" + 2x +
(K-DK=0<y® (free)fegea I @uefisede

1) (0.1)F .2y [01]3

3) (1,3 3 (Lo)3
4 31 J129-72 B

1) 93 2) 9

3) 93 a) 9-3

103.

104.

103,

B

Z
Y

D C

Sug i3 o fa'3e fT9 fig x Tear ABCD 2 iegal

FARIAFITIAXYZ S fFaTaardiixa DY=3 Ax,

AZ=2RHIT T BY S ETE:

2)
3 Ty 4)
waq fai fagw dt gda g & feret yw dwei ev 32 geT
T fograe 3t fore U3ges feg dfeor =g ufana &:
) 125% 2) 150%

3) 300% 4) 50%
Had fea miugaR v 89 §= 60° 3= =t fond fegast

_ Eig:: R Tl o)

1) J6:l 2) 2:1
3) 23 4 3.1

1) 54 6y

8ay
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110.

In a right angle triangle, the sides of the right angle
are of lengths [6 cm and 8 cm, Then the side of the
largest square that can be inscribed in the triangle is

D £ em 2) 8 f3em

3) S\ﬁcm 4) 8cm

If a, b, c, d are the sides of a right angle triangle,

where c is the hypotenuse, then the radius ‘r’ of the
incircle of this triangle is

1) r= atbtc 2 r= a-b+c
2

- atb-c a-b-c
Hr=""73 4 ="

A person wrote 15 numbers on a circle. Each number
was the arithmetic mean of its two neighbours. If one
of these numbers was 6, then the sum of all the
numbers written on the circle is

1) 120 2) 189
3) 100 4 90

%

In above figure, diagonals of a cyclic quadrilateral
ABCD intersect at point P. Area of triangle APB is 24
cm’. If AB=8 cm and CD=5 cm, calculate the area of
ADPC

1) 20em’ 2y 12em’
3) 94w’ 4 9.5cm’

Two dice are tossed. The probability that the total
score is a prime number is

D+ 2)

S
1

3) 12 4 79

16

106.

107.

108.

109.

110.

fea mds fagw et mae g8 sty garat oh
AT 16 A T 8 AW 31 §F €F 3 2% =, afy fow
fagw & wog verfom arAger &, &t gar &t Saet 32T

1y 8 ms 2) 8.3

3) 8.5 4) 8wy

abc T AHde f3d= vt gt s, fAE femfadaer
gae &1few f3gw e furd e gl 999 (incircle) o7
niay fery 'r' G2ar:

1} r= at+b+c 2) r= a-b+c
2 2

atb-c a-b-¢
3) r= 3 4) )

foa foaat & fe'g 9ag €3 15 Afimr=t foitw o3
AfteHT »uEt gpwtet fifireT (varst i fug st Afienm)
T T feIT WOW'S 1| A9 fouast fio°F fog Afunm 6
2 I fon T'99 I fout arettt spabw ffiorert @
J:

1) 120

3) 100

2)
4)

V(B
‘\&/
C

fegae foga fe g gadt agegm ABCD e feags fig P
@3 92€ T5 AAPB T 4I9ET 24 A’ T 1 7T AB=8 AN,
CD=5/13< 3F ADPC O §3de8 J<ar|
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History

The Act of Union between England and
resulted in the formation of the United Kingdom of
the Great Britain.

1) NorthernIreland 2)
3} Scotland 4)
Who led the Scholar's Revolt ?
1). Phan Boi Chau

Wales

Jersey

" 2) Phan Chu Trinh

3) The official at the imperial court
4) The people of Mekong Delta

The Poona Pactwas signedbetween &
1) MahatmaGandhi____ Motilal Nehru

2} MahatmaGandhi_ Lord Irwin

3) Mahatma Gandhi___ B.R. Ambedkar

4) MahatmaGandhi____ Mountbatten

The oldest Japanese book Diamond Sutra was
printed in

1) A>686 2}  ADRBe8

3) AD668 4y  ADB66

How many years did it take to form Republic of
Vietnam?

1) 30 2y 29

»H 19 4) 25

Consider the following evenis of 1919A.D.

a. RowlattAct

b. Hunter Report

¢. Jallianwala Bagh Massacre

d. Returnof Knighthood by Rabindranath Tagore

Their correct sequence is.
1) a,b,c,d 2)
3) bacd 4)

What was the aim of temperance movement?

a,c,d,b
c,a,b,d

1) Decrease unemployment
2) Introduce Rent control
3) Tostop criminal activities

4) Toreduce the consumption of alcoholic drinks
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Which French artist prepared a series of four prints
visvalizing his dream of a world made up of
'‘Democratic and Social Republics'?

1) Frederic Sorrien
2} Andreas Rebmann
3) Karl Kaspar Fritz
4) Giuseppe Mazzini

By the 18th century, Which of the following
commodities were produced on large plantations in
America by slave labour and exported to other
countries?

1) Grainssuch as wheat and barley

2) Tropical fruits such as bananas and oranges.
3) Animal products such as wool and beef.

4) Cashcrops such as sugar and cotton

By which treaty Clive sccured the Diwani of Bengal,
Biharand Orissa?

1) Treaty of Plassey

2) Treaty of Allahabad

3) Treaty of Bengal

4) Treaty of Baskar

Who ts the author of Jane Eyre?

1) Jane Austen 2)  Charlotte Bronte
3) William Hogarta 4) Samuel Richardson
GEOGRAPHY

Which of the following is correct about the Konkan
coastal plain?

1) Stretches from Mumbai to Goa.

2} Stretches from Daman to Goa.

3) Stretches from Goa to Mangalore.

4) Stretches from Mangalore to Kanya Kumari.

Ravi, Jehlum and Chenab arc the distributaries of
which river?

3y
4

Which state of India has more percentage of area
under forest ?

1) Ganga
3} Indus

Brahamputra

Godavari.

1) Haryana
3) West Bengal

2)
a)

Punjab

Tripura.
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. Which one of the following is not a part of SAARC
(South Asian Association for Regional Cooperation)

1) India 2)
3) BanglaDesh 4)

Nepal
China

In which category does the Kailash mountain range
fallin?

1) BlockMountain 2)  Folded Mountain

3) DomeMountain 4)  RelictMountain

What is the other name of Mangroves?
1) Mountainous Vegetation

2) Dry Vegetation

3) Monsoonal Vegetation

4) Littoral Vegetation.

Sindri is famous for -

1) Fertilizer Industry

2) Paper Industry

3) Silk Industry

4) Cement Industry

Which soil is formed differently from the other three
soils? _

1) Bhabar 2)  Bangar

3) Regur 4)  Khadar

Parkland, Steppes, Pampas, Campos and Veld are
kept in which of the following categories?

1) Mountains 2)
3) Deserts 4)

Which of the following fact is correct for straight line
drawn between Arunachal Pradesh and Rann of
Kachchh?

1) 3293Kilometers 2) 2933 Kilometers
3) 2393 Kilometers 4) 2923 Kilometers

Which region normally experiences the
convectional type of rainfall ?

Plateaus

Grasslands

1) Equatorial Region
2) North Polar Region
3) South PoIachgion
4) Glaciated Region

125.

126.

127.

128.

129.

130.

131.

132,

Iz fofint fe9 faogT Arga S &at 47

1) gag 2)  AUF

3) dBER 4) d®
Fzmugeg st fan i@l fEomgetd?

1) 98T UTHI 2) TBUEUEEI
3) JueaOudEs  4) wREHZ U
feg e SeAUS ETEAT S T

1) yeut saruSt |

2) YR gEAUST

3) ViaHaEsHUS!

4) Ayedt faae €8t garud!
fiedt fam st ufiT J-

1) wegedar

2) grara §otEr

3) frsa Gedar

4) Fifie §etar

2

1) 399 2)
3) 99 a)
ygadE, Fedte, (U=, 30 »3 &85 & fan @1 fEe
Ferrr AT a?

1) u@Eg 2)  usd

3) WgES C4)  waEHEE

»EATIE USH T 3T wrE a5 37 fyE awh fRdt aur €t
Faret Agat faagr sl I7

1) 3293fadtes 2) 2933fa@ieT

3) 2393 faditeT 4) 2923 faBrited

frafye 2gurmH 30 3 faud dge ffgudt A=t 97
1) g-HUAQE §3d

2) @FdtugeerydT

3) SySIgge e yde

4) HOEISTHIT




133.

134.

135.

136.

137.

138.

CIVICS

How many duties are registered in 51" article of
Indian Constitution by 42™ amendment?

1} 10 2) 6
3) 12 4) 11

The President cannot proclaim General Emergency
withoutdirective from.....................

1. TheAttorney General

2. TheCabinet.

3. The Chief Justice of Supreme Court.
4. The ChiefElection Commissioner.

Provision of President's Emergency powers is taken
from the constitutionof .................

2)
4)

1} SouthAfrica Ireland

3) Germany Australia

Who decides whether a particular Bill is Money Bill
oran Ordinary one.

1) The President

2) The Finance Minister

3) The Speaker of Lok Sabha
4) The Prime Minister.

Match the following:

A West Bengal
B Uttar Pradesh
C Meghalaya

D Kerala

United Democratic party

Muslim League
Rashtriya Lok Dal
Forward Block

bl Bl Had M

1) A-II, B-I, C-TV, D-11I
2) A-1V, B-HI, C-1, D-II
3) A-I, B-III, C-IV, D-II
4) A, B-IT,C-1, D-IV

Amendment Act of 2003 limits the size of the
MINIStry to ...ococevrenne.,

1} 15% of the length of the legislative Assembly,
2) 16% ofthelength of the legisiative Assembly.
3) 17%of the length of the legislative Assembly.
4) 18% ofthe length of'the legislative Assembly.
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Which statement is True :-

1) Union list has 47 subjects, State list has 97
subjects, concurrent list has 66 subjects

2) Union list has 66 subjects state list has 47
Subjects, concurrent listhas 97 subjects

3) Union list has 97 subjects, State list has 66
subjects and concurrent list has 47 subjects.

4) Union list has 47 subjects, state list has 66
subjects and concurrent list has 97 subjects.

Who cannot participate in the electoral process of
Vice President?

1) Elected members of Lok Sabha.

2) Elected members of Rajya Sabha

3) Elected members of Legislative Assembly.

4} Nominated members of Lok Sabha & Rajya
Sabha

Thereare  members elected for Parliament from

Punjab.

1)) 13 2y 14

3) 10 4y 15

Naturalised Citizenship cannot be acquired by

1) Longstay 2)  adoption

3) Jus-Sanguinis 4)  Conquest
ECONOMICS

What is marginal propensity to save (M.P.S.)
AY AS

D ac ) &Y
AY AC

) as Kivva

Workers in the
physical goods.

sector do not produce

1) Primary Sector  2)
3) Tertiary Sector 4)

Secondary Sector

Final Sector

To grow more than one crop on a piece of land during
avearis knownas:-

1} KharifCrop 2)
3) RabiCrop 4

Multiple Cropping
Good Crop.
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Who is the chairman of the Planning Commission,
1) N.8.S.O 2)  Chief-Minister
3} President 4)

Factors of Production and their Price is given
below:-

I. Land
II. Capital----- Rent
IfI. Labour -—-- Interest

Prime Minister

IV. Entrepreneur ---- Profit

Which matching is wrong,
1} LILIV 2) LIV
3y LILIT 4y ILILIV

From the following groups which has all the
economic-activities

1) Production, Consumption, Social Service,
Distribution.

2) Production, Consumption, Exchange,
Distribution

3) Production, Consumption, Exchange, Social
Service

4) Consumption, Exchange, Distribution, Social
Service

On the basis of ownership, types of economy are:-
1) Capitalistic, Socialistic, Developed-Economy.
2) Socialistic, Mixed, Developed-Economy.
3) Capitalistic, Socialistic, Mixed-Economy.

4) Mixed, Developed, Developing-Economy.

In India who directly controls the "Monetary
Policy"?

1) Finance Department of India
2} Reserve Bank of India
3) State Bank of India

4} Prime Minister of India
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ENGLISH

151-155. Read the comprehension passage and answer
the following questions :

151.

152.

At this stage of civilization, when many nations are
brought in to close and vital contact for good and
evil, it is essential, as never before, that their gross
ignorance of one another should be diminished, that
they should begin to understand a little of one
another's historical experience and resulting
mentality. It is the fault of the English to expect the
people of other countries to react as they do, to
political and international situations. Qur genuine
goodwill and good intentions are often brought to
nothing, because we expect other people to be like
us. This would be corrected if we knew the history,
not necessarily in detail but in broad outlines, of the
social and political conditions which have given to
each nation its present character.

According to the author 'Mentality' of a nation is
mainly product ofits......

1. Presentcharacter

2. International position

3. Politics

4. History

The character of a nation is the result of its ..
1. Grossignorance

. 2. Cultural heritage

153

154,

155.

3. Socio-political conditions
4. mentality

The need for a greater understanding between
nations..

1. is more today than ever before
2. wasalways there

3. isnolongerthere

4. willalways be there

Englishmen like others to react to political situations
like...

. others

2. us

3. themselves

4. eachother

According to the author his countrymen should..
1. read the story of other nations

2. notreacttootheractions

3. have abetter understanding of other nations
4. have vital contacts with other nations

156-162. Read the comprehension passage and answer
the following questions : .

Marie Curie was one of the most accomplished

156.

157.

158.

scientists in history. Together with her husband,
Pierre, she discovered radium, and element widely
used for treating cancer, and studied uranium and
other radioactive substances. Pierre and Marie's
amicable collaboration later helped to unleck the
secrets of the atom.

Marie was born in 1867 in Warsaw, Poland, where
her father was a professor of Physics. Atan early age,
she displayed a brilliant mind and blithe personality.
Her great exuberance for learning prompted her to
continue with her studies after high school. She
became disgruntled, however, when she learned that
the university in Warsaw was closed to women.
Determined to reccive a higher education, she
defiantly left Poland and in 1891 entered the
Sorbonne, a French university, where she earned her
master's degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne
with some of the greatest scientists of her day, one of
whom was Pierre Curie. Marie and Pierre were
married in 1895 and spent many productive years
working together in the physics laboratory. A short
time after they discovered radium, Pierre was killed

by ahorse-drawn wagon in 1906. Marie was stunned

by this horrible misfortune and endured
heartbreaking anguish. Despondently she recalled
their close relationship and the joy that they had
shared in scientific research. The fact that she had
two young daughters to raise by herself greatly
increased her distress.

Curie's feeling of desolation finally began to fade
when she was asked to succeed her husband as a
Physics Professor at the Sorbonne. She was the first
woman to be given a Professorship at the world-
famous university. In 1911 she received the Nobel
Prize in Chemistry for isolating radium. Although
Marie Curte eventually suffered a fatal illness from
her long exposure to radium, she never became
disillusioned about her work. Regardless of the
consequences, she had dedicated herself to science
and torevealing the mysteries of the physical world.

The Curies' collaboration helped to
unlock the secrets of the atom.

1. friendly 2. competitive

3. courteous 4,  industrious

Marie had abright mindanda personality.

1. strong 2. lighthearted

3. humorous 4, strange

When she learned that she could not atiend the
university in Warsaw, she felt

1. hopeless 2.  annoyed
3. depressed 4, worried




159. Marie by leaving Poland and traveling to

France to enter the Sorbonne.
1. challenged authority ~ 2.showed intelligence
3. behaved 4, was distressed
she remembered their joy together.
1. Dejectedly 2. Worried
3. Tearfully 4. Happily

Her began to fade when she returned to the
Sorbonne to succeed her husband.

1. misfortune 2. anger
3. wretchedness 4. disappointment

Even though she became fatally ill from working
with radium, Marte Curie was never

1. troubled 2. worried
3. disappointed 4.  disturbed

160.

161.

162.

163-167. Read the comprehension passage and answer
the following questions :

Waste management are a set of activities that include
collection, transportation, treatment and disposal of
waste material. There are four methods of managing
waste. The first one is Recycling which means
turning waste into new material but some argue that
collecting, processing and converting waste uses
more energy than land filling. The second method
Land filling is compacting garbage and burning it in
a hole. Large levers are placed in the bottom of
landfills to avoid toxic garbage juice to go into
ground water but these levers always don't work.
Composting, the third method is piling up of organic
miatter and decoraposing it to make the soil rich but
plastic garbage makes it hard to compost on a large
scale. The last method Incinerate waste can be done
either by creating or harvesting a fuel and burning it
or by buming the waste directly. Unfortunately
burning garbage pollutes the air.

What is the main purpose behind the author's writing
this?
1. To convince the readers to recycle and compost

2. To persuade readers that recycling is a waste of
resources

. To compare and contrast recycling and land
filling

To inform readers of methods of waste
management

Why Composting is not feasible on a large scale ?

1. People wouldn't want to touch all of that gross
rotting food

It would smell too bad in densely populated cities
It would attract rodents that would spread disease

Plastic would get into the compost and turn it into
a pollutant

163,
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Which of the following expresses the best meaning‘
of the word 'compacted'?

1. Garbage is burned before it is thrown in a hole

2. Garbage is put in trucks before it is thrown in a
hote :

Garbage is crushed before it is thrown in a hole

Garbage is put in a can before it is thrown in a
hole

What expresses the main idea in the second
paragraph?
1. Land fills take up a lot of space

2. Composting is good for the soil but it can be hard
todo

. The process of composting is very complicated
and scientific

4. There is lot of plastic garbage in landfills

Which conclusion could be best supported with text

from the passage?

1. Each method of waste management has its draw
backs

Recycling is without a doubt the best way to
handle waste

3. Incineration is the best way to process waste

4. All large cities should create massive compost
piles

165.

3
4.

166.

167.

168-169. The following six sentences come from a
paragraph. The first and the last sentences are given.
Choose the order in which the four sentences (PQRS)
should appear to complete the paragraph.

168. S 1:1n 1945, America faced two powerful enemies
in the world war. _

§2:
S3:
83:
54
85

S6 : This was the weapon that ended the second
World War.

America found conventional weapons
insufficient to crush them.

These were Germany and Japan who posed
strong opposition to America.

: The result of this was the production of the atom
bomb.

The government ordered the scientists to conduct
tescarch and produce anew deadly weapon.

The proper sequence should be
1.- QPRS 2. QPSR
3. PQRS 4.  PQSR

P:

Q:
R

S:




s

169. S1: We are what our thoughts have made us,
S2:
R .
S3:
54

S6: If good impressions prevail, the character
becomes good, ifbad it becomes bad.

P: Andso take care of what you think

Q: Every man's character is determined by the sum
total of these impressions.

R: Every work we do, every thought that we think,
leaves an impression on the mind-stuff.

S: Thoughtlives, they travel far.
The proper sequence should be

1. SPRQ 2. RQSP
3. PRSQ 4. RQPS

170-171. The following questions have the second
sentence missing, Choose the appropriate sentence
from the given options to complete it. :

70. Asmoke oozed up between the planks.
B
C Everyone now knew there was fire in board.

SOeoplé stayed wherever they were to enjoy the

2.1
-es broke out here and there,

P €0Pluyere ready to go for sky diving.
4. Itwasamesmerizingsite.
171. A- When a satellite is launched, the rocket begins by
going slowly upwards through the air.
B-.
C However the higher it goes, the less air it meets.
1. Asaresultthere isless friction.
2. Consequently, the rocket does not become too
hot. _
3. Asaresult the atmosphere become thinner.
4. Astherocket goes higher, it travels faster.

172 -180. Choose the word which best fills the blank
from the four options given below.

172. The terrorists were arrested for their -—--- activities
1. subservient 2. subordinate
3. subsidiary 4, subversive

173. Therole of Zoois to preserve —----- antmals,
I. extinct 2. common
3. rare 4, dead

174, Tl_xe manner in which bombs exploded in five trains
within a short span of time suggests that it was part of
A -memmemee .

I. game 2. villainy
3. conspiracy 4. sabotage

175. The non-cooperative attitude of the members can
only ------ the image of the soc iety.

1. fmprove 2. degrade
3. defame 4. spoil

176. The volcanic ----=---- was cause of great devastation.
1. outburst 2. eruption
3. erosion 4, movement

A Eye-witness, the news reporter gave a
graphic description of how fire broke out.
1. Reporting 2. Observing
3. Seeing 4. Quoting

178. Discases are -----umm-- through contact with infected
animals.
1. transmitted 2. transported
3. transferred 4. transplanted

179. The Prime Minister--------- the states that the
unrevised policy was not meant to infringe upon
their rights.
1. assured 2. declared
3. attributed 4.  suggested

180. He-~rmemmm- friends has come back.
1. andhis 2. alongwithhis
3. orhis 4.  along with them

181-182. Choose the appropriate phrasal verb to
complete the sentences.
181. Has the advertising agency-------- the new
promotional material yet?
1. dropped off 2. dropped in
3. dropped out 4. dropped by

182. We have decided to ---ve-rem-- billboards and use
more double-page spreads instead.
1. backoff 2. come down with -

3. Cutbackon 4.  dropoff

183-184. In the following passage there are some
numbered blanks. Fill in the blanks by selecting the
most appropriate word for each blanks from the given
options.

Jamshedji Tata is ----- 183--—- to be the path-finder
of modern industrial builders. He is known as the
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grandfather of the Indian industry for his acumen and
enthusiasm. Nobody else could have ---—- 184--- of
the new industries started by Jamshedji at that time
when industrial ----- 185 -—--- and revolution was yet
to come to India. Jamshedji's father Nasarvanji Tata
used to trade in jute with China and Britain. He
started----- 186-—-- from India. Jamshedji started a
cloth mill in Nagpur more than hundred years ago. At
that time almost all the 187-- used to
come from Lancashire in England. What Jamshedji -
----188----- was praiseworthy.

183. 1. reward 2. agreed
3. empowered 4 Considered
184. 1. absolved 2. thought
3. ventured 4. set
185. 1. imports 2. acts
3. machinery 4. awakening
[86. 1. export 2. industries
3. import 4. trade
187. 1. goods 2. Imports
3. cloth 4. machines
188, 1. did 2, dreamt
3. Agreed 4,  told-

189-195, Select the meaning of given phrases/idioms
from the given options.

189. Real friends never leave us alone in close quarters.
1. closeexamination
2. livenearto each other
3. livefarto each other
4. inlove
190. On the eve of inspection every thing was kept in
apple pie order, '
1. inrandom order

2. related to fruits packing
3. related to dry fruits packing
4. inperfectorder
191. To have passed with 'flying colours'
1. hasexcelledinart
2. has gotmediocre grades
3. hasjustscraped through
‘4. hasdone very well .
192. Reenuis very popular for her above board conduct.
1. boasting person
2. honestand straight forward
3. aman witharrogance
4. adishonestperson
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193. Once in blue moon, we meet each other.
1. frequently
2. Hardly ever
3. veryseldom indeed
4, inthelight of'a blue moon
194, The officer tpok him to task.
1. promotedhim 2. rebuked him
3. dismissedhim 4.  praisedhim
195. Why do you wish to tread on the togs?
1. togive offenceto them
2. to follow them grudging
3. totreatthem indifferently
4. tobekicked by them

196-197. Choose the correct antonyms for the
underlined words.

196. Twant to pursue my studies.

1. prolong 2. discontinue
3. continue 4,  discomfort
"197. The student's constant and diligent efforts brc
him great success.
1. lucky 2. constant
3. lazy 4. slow

for the
198-200. Choose the correct synony;
underlined words.

198. He changed his statement so many times that his
entire message became ambiguous,

1. clear 2. impréssive
3. unimpressive 4.  unglear
199. Don't live under the fallacy that luck will do

everything foryou.
I. wrongbelief 2. weakness
3. pleasure 4:  rightbelief

200. Quarrelling people created a lot of cacophony and so
nobody was able tohear us.

1. bitterness - 2.
3. hearing 4.

noise
fighting

-~
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